Chapter 22 Review







Class Copy. Work on your paper!

1.  The velocity of a truck t seconds after the brakes are applied is 
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 ft/sec.  How far does the truck travel while coming to a stop?

2.  The rate of growth of a population of bacteria is modeled by 
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  where P is the population size and t is the time in days, 
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.  The initial size of the population is 500.  After 1 day the population has grown to 600.  Estimate the population after 7 days.
3.  A particle is moving along a line so that is velocity is 
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a. What is the displacement of the particle on the time interval [0, 6]?

b. At what value(s) of t does the particle change direction?

c. Hence find the total distance traveled by the particle on the time interval [0, 6].
d. Is the particle’s speed increasing or decreasing when t = 4?
4.  The region H is enclosed by 
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a. Find the area of region H.

b.  Sketch the solid generated by revolving H about the y-axis.

c.  Set up an integral that represents the volume of revolution. Show work in evaluating the integral to find the volume.
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5. The graph shows the function 
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 on the interval 
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Set up the integrals for the volume that would be generated by 

revolving this region around the  following axes of rotation.

a.  x-axis

b. 
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d.  y-axis
e. 
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f. 
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  where P is the population size and t is the time in days, 
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3.  A particle is moving along a line so that is velocity is 
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a. What is the displacement of the particle on the time interval [0, 6]?

b. At what value(s) of t does the particle change direction?

c. Hence find the total distance traveled by the particle on the time interval [0, 6].

d. Is the particle’s speed increasing or decreasing when t = 4?

4.  The region H is enclosed by 
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a. Find the area of region H.

b.  Sketch the solid generated by revolving H about the y-axis.

c.  Set up an integral that represents the volume of revolution. Show work in evaluating the integral to find the volume.
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revolving this region around the  following axes of rotation.
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